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Cod. 1 -  Inglês Técnico (Interpr textos de inform) - 10 questões

INGLÊS TÉCNICO

.01. Unlike competitors, Sony doesn’t emphasize components and price as much as how its PCs can be used for digital photography or music. (C/Net, Jan. 2002)

According to the passage, Sony:

A. Emphasizes components and price more than its competitors.

B. Emphasizes the ways its PCs can be used for digital photography or music more than price.

C. Beats its competitors by offering low-priced PCs which can be used for digital photography or music.

D. Emphasizes the use of components much more than its unlikely competitors.

.02. A technician’s error severed Window users from Microsoft’s update servers for five days, leaving .Net analysts questioning whether the software giant can deliver 24-7 services. (MSNBC, Jan.2002)

According to the passage:

A. A human error made it impossible for Window users to access Microsoft update servers for five days.

B. Analysts question whether Microsoft really needs to offer 24-7 services.

C. A human error allowed Window users to have free access to Microsoft’s update servers for five days.

D. A mechanical error allowed Window users to have free access to Microsoft’s update servers for five days.

.03. The high-tech vanguard of entertainment consumers who initiated a global music-swapping spree with the help of Napster a little over two years ago is branching out into television shows and movies. Napster's service was limited to music, and it was shut down last year after a federal judge found it liable for contributing to copyright infringement. But Morpheus enables users to trade files of any kind, and an increasing number of them are filled with copyrighted video entertainment.

According to the passage:

A. The use of both Napster and Morpheus was shut down last year for contributing to copyright infringement.

B. Unlike Napster, Morpheus can only be used for copyrighted video entertainment.

C. The high tech vanguard entertainment consumers refuse to accept Morpheus as a suitable substitute for Napster.

D. By using Morpheus, one is capable of trading different types of files, even copyrighted video entertainment.

.04. A new computer worm masquerading as a software update from Microsoft Corp. is capable of deleting all files on the hard drive of an infected computer but has so far spread very slowly, an antivirus vendor said Monday. (CNN.com, Jan. 2002)

According to the passage, the virus:

A. was unintentionally sent by Microsoft itself in one of its updates.

B. is spreading with unprecedented speed.

C. has not so far spread at great speed.

D. was intentionally created by a Microsoft vendor.

.05. Following a string of embarrassing security glitches, Microsoft Chairman Bill Gates this week announced a major strategy shift to focus on security and privacy and restore confidence in the company's software. (Silicon Valley.com, Jan.2002)

According to the passage:

A. Confidence in his company’s software has been so high that Bill has decided a major strategy shift in Microsoft’s security policy.

B. Bill Gates has denied that any security problem has in fact occurred so far but has taken steps to prevent them from happening.

C. In response to security problems, Bill Gates has announced a new focus on security and privacy.

D. Bill Gates has this week dismissed the need for any major change in Microsoft’s focus on security and privacy.

.06. First-quarter profits for Apple Computer Inc. leaped 37 percent over last year, hitting Wall Street's expectations but falling short of the company's own revenue forecast as consumers held their breath for the release of the new iMac. 

The Cupertino company yesterday reported a net income of $38 million (11 cents per share) during the first quarter, up from last year's loss of $195 million (58 cents) during the same period. (SFChronicle, Jan. 2002)

According to the text, the net income for the first quarter was of:

A. 195 million.

B. 38 million.

C. 58 cents per share.

D. 233 million.

.07. The "new wave of online technology" part is debatable, but RingMessenger is definitely the leading edge of the convergence/synergy movement that is sweeping the major media companies. (Boston Globe, Jan. 2002)

In the passage, the word DEBATABLE means approximately:

A. Arguable.

B. Reliable.

C. Unacceptable.

D. Trustworthy.

.08. According to sources, CEOs of the computer industry – many of whom have faced severe criticism lately – have promised to tackle the issue at once.

In the passage, WHOM refers to:

A. Sources.

B. Computer industry.

C. Severe criticism.

D. CEOs of the computer industry.

.09. “Unless you have a password, you cannot have access to this particular site.”

In the passage, UNLESS YOU HAVE A PASSWORD means approximately:

A. Because you have a password.

B. Once you have a password.

C. If you don’t have a password.

D. Provided you have a password.

.10. “The delivery of those computer parts has been put off for another week.”

In the passage, PUT OFF means approximately:

A. Postponed.

B. Anticipated.

C. Increased.

D. Improved.
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ESPECÍFICA ANALISTA DE SUPORTE JÚNIOR (TELEINFORMÁTICA)

.11. Um administrador precisa endereçar 150 hosts ou estações de trabalho em sua rede interna. Qual classe de endereços abaixo forneceria o mínimo de hosts necessários?

A. Classe A.

B. Classe B.

C. Classe C.

D. Classe D.

.12. A máscara de sub-rede é usada para:

A. Rotear dados para as diferentes sub-redes dentro da entidade.

B. Conectar-se à Internet e acessar as sub-redes disponíveis.

C. Executar o roteamento em redes públicas.

D. Subdividir os domínios de DNS.

.13. A camada de Enlace de dados é responsável por:

A. Interface entre a pilha OSI e o usuário.

B. Tradução de dados.

C. Comunicação entre as aplicações.

D. Controle de erros.

.14. Hubs são dispositivos utilizados em redes de topologia do tipo:

A. Barramento.

B. Estrela.

C. Segmentação.

D. Comutação.

.15. Qual dispositivo abaixo opera na Camada de Rede do Modelo OSI?

A. Roteador.

B. Repetidor.

C. Comutador.

D. Ponte.

.16. Segundo a especificação de desempenho de cabos escrita no padrão EIA/TIA 568, o padrão mais baixo de cabeamento para instalações 10Base-T é descrito pela categoria:

A. Categoria 1.

B. Categoria 2.

C. Categoria 3.

D. Categoria 4.

.17. Selecione a opção abaixo que NÃO é configurável durante a instalação do Windows NT Server 4:

A. Endereço do Servidor DHCP.

B. Endereço do Servidor DNS.

C. Máscara de Sub-rede.

D. Gateway Padrão (Default).

.18. Um domínio é um conceito de rede que define uma coletânea de itens relacionados abaixo, EXCETO:

A. Servidores de aplicativos.

B. Servidores de arquivos.

C. Impressoras.

D. Usuários.

.19. A característica de autoformatação do Microsoft Word 97 permite que você digite um asterisco antes e após uma palavra para que ela:

A. Fique em itálico.

B. Fique em negrito.

C. Fique sublinhada.

D. Fique em Caixa Alta.

.20. NÃO é uma característica possível do Microsoft PowerPoint 97:

A. Criar e editar uma planilha simples padrão Excel.

B. Adicionar Hiperlinks em uma apresentação.

C. Usar um computador para controlar uma apresentação apresentada em outro computador.

D. Compactação automática de gráficos e outros objetos.

.21. O endereço 137.103.210.2 pertence a qual das classes abaixo:

A. Classe A.

B. Classe B.

C. Classe C.

D. Classe D.

.22. O protocolo que se utiliza da característica Estado de Link é:

A. RIP.

B. OSPF.

C. IGRP.

D. ICMP.

.23. A camada responsável pela transferência de dados de extremidade é:

A. Camada 6, Apresentação .

B. Camada 5, Sessão.

C. Camada 4, Transporte.

D. Camada 3, Rede.

.24. Em qual protocolo é baseado o IPX/SPX?

A. XNS.

B. TCP/IP.

C. Apple Talk.

D. SNA.

.25. NÃO é uma característica de uma rede SNA:

A. Oferecer compartilhamento de recursos.

B. Reconhecer a perda de dados durante transmissão.

C. Oferecer recursos de criptografia.

D. Utilizar SAA na relação hierárquica entre os aplicativos.

.26. O esquema que especifica um hub de fiação, uma configuração em estrela e cabos de pares trançados sem blindagem com no máximo 100 metros de comprimento do nó ao hub é:

A. 10Base5.

B. 10Base-T.

C. 10Base-X.

D. 100Base-T.

.27. Durante a instalação do Windows NT Server 4 é possível instalar os serviços abaixo, EXCETO:

A. DHCP Server.

B. MAIL Server.

C. Monitor Agent.

D. Internet Information Server.

.28. O tipo de Backup que copia para a fita apenas os arquivos alterados e deixa o bit de archive inalterado é conhecido como:

A. Incremental.

B. Relacional.

C. Diferencial.

D. Total.

.29. Os dispositivos que têm o recurso de fragmentação e remontagem de datagramas IP são os:

A. Roteadores.

B. Pontes.

C. Hubs.

D. Comutadores.

.30. A ferramenta Publish to the Web Wizard do Microsoft Access 97 permite:

A. Gerar documentos padrão ASP.

B. Gerar documentos padrão Java Script.

C. Gerar documentos padrão VB Script.

D. Gerar documentos padrão HTML.

.31. Para aumentar a performance do sistema pela gravação de arquivos em áreas contínuas utiliza-se o utilitário:

A. Desfragmentador de Disco.

B. ScanDisk.

C. DriveSpace.

D. Monitor.

.32. Todos protocolos abaixo são protocolos de roteamento, EXCETO:

A. RIP.

B. OSPF.

C. IGRP.

D. SMTP.

.33. A máscara de rede padrão para a classe A é:

A. 0.0.0.0.

B. 255.0.0.0.

C. 255.255.0.0.

D. 255.255.255.0.

.34. Selecione abaixo o protocolo de rede local que não permite serviço de roteamento.

A. IPX/SPX.

B. TCP/IP.

C. NetBIOS.

D. XNS.

.35. Uma das características da topologia em anel é que os nós:

A. Utilizam broadcast.

B. Difundem o sinal por meio de comutadores.

C. Amplificam e recondicionam o sinal.

D. Concentram os sinais em hubs.

.36. O dispositivo que separa o tráfego de uma rede utilizando os endereços de hardware é:

A. Ponte.

B. Roteador.

C. Hub.

D. Comutador.

.37. Os hubs são usados para:

A. Limpar, ampliar e retransmitir um sinal.

B. Dividir uma rede em segmentos mutuamente isolados.

C. Conectar uma rede a outra. 

D. Servir como concentradores para unir vários clientes.

.38. O protocolo que se deve configurar para que um Cliente do Windows NT Server 4 se comunique com um servidor Novell NetWare 4 é:

A. SNA.

B. NWLink.

C. NetBEUI.

D. AppleTalk.

.39. O Windows NT Server 4 apresenta vários grupos internos de usuários. Selecione abaixo um grupo global:

A. Administrators.

B. Users.

C. Domain Users.

D. Domain Guests.

.40. Numa planilha Microsoft Excel 97 pode se ter aproximadamente:

A. 16.000 linhas.

B. 32.000 linhas.

C. 65.000 linhas.

D. 128.000 linhas.

FIM DO CADERNO

ENUNCIADO DAS QUESTÕES DISSERTATIVAS

Resolva estas questões em folha dupla de papel almaço.

Use uma folha dupla para cada questão.

Coloque em cada folha dupla seu nome completo, seu CPF, nome do cargo e código do cargo.

Analista de Suporte Júnior (Teleinformática)

QUESTÃO 01 - Escreva um algoritmo para calcular a função f(x,y) = 3x + 5y^2.

QUESTÃO 02 - Escreva um algoritmo para calcular a exponenciação de um número. Deve permitir a entrada do número e do valor do exponencial.

QUESTÃO 03 - Escreva um algoritmo para calcular a somatória, a soma dos quadrados e a média entre os primeiros números naturais.

QUESTÃO 04 - Escreva um algoritmo para converter um número binário em decimal.







